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Intro

Today we will 7"va learn *”p 97 of mn2> noon

If a person marries a mwp does 7>y need to be done
when she becomes a 15172 in order to finalize the 1 pwyTR
amnn?

The o'mon have the power to undo the pwi7p of a person in
1 0f 2 ways

1) If the man was w7p» with oo then the omon use their
power of 9791 17 2 9pon and they take ownership of the
90> he gave her and take away his ownership of it

If the man was w7pn with Ix°2 then the oon use their
power of Mt N1 1n>va% 271w

q A discussion whether a nwan is able to do %51 or not
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So let's review

In the previous Daf our Mishnah taught;

0P T

Two brothers, 7wnw1 12187, were married to 2 sisters, >r7
7R respectively.

51 was a mvp who was married off by her mother or
brother, her marriage to Ruvain only 133771, while nxb was
anT, and her marriage to Shimon Xn»IRT;

T 5w Mbya nn

If pyrnw passed away childless -

MR ORODI 127

DIRD TIND DR

S TNW TV POnN IR DR

If Rochel does not do px’» on her own, we wait until she
becomes a 79173, when her marriage to 12187 becomes

RN IRTH, and then

TR MINR DWW W7 RIM

Leah is completely moo from nx°5m 012, because she is an
RN”IIRT MW to Ruvain,

17 explained that the marriage of 5n 2187 only becomes
valid R IR

PR5YIR

RS 5va RH R

If Ruvain and Rochel cohabited after she became a 75173, a
new pwiTp takes effect Xn»xT», and Leah is then
completely Mo from nx°5>m 012’ as an RIPIRT Y to
Ruvain.

DafHachaim.org
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. The xm) proceeds to challenge this from another teaching
of Rav: >

MRD ROW mop

11:(1)1::1 (r)nl?;‘f?i;d 5m1 while she was a mvp i, and Snn did = JN’D wa " JUP
DRUN TV 2T NWI) ﬂTTJ)J'I ﬂ'?"flm

And when Rochel became a 75173 she went ahead and was

;»;D;-;z] :jpn from nnw; é///g
VI NDIR VI NN IR

WUN VINIVAPR
She does not need a vx from pYnw. Shimon’s pwiTP does

not take effect at all, because she’s already married to ’an ’an
TN

SRIDY says

VN VIR

She does need a v from YPw. Shimon’s pwiTy did take i / /

effect, because Ruvain’s marriage remains j32770. 2y /& > /)é ')6/‘/

The X2 explains

52 RHTIRS N

It seems that this is a case of where Ruvain did not cohabit
with Rochel after she became a 7917, and still Rav
considers Ruvain’s marriage Xn» X7, as he rules 7R b)’: ]21 X9
YN VI NIIN?

The X103 answers é//\/g AO&/J/

It’s actually a case where 5v1 j2187; and the npbmn .

‘ between SRmYI 17 is, that v12n Reuven’s marriage
hldssine 2 e s mariageeeame 7 T becamexmrinm
Sximw holds I . D 1VRIN ]’I’JWP and Shimon’s ]7w]-r,|7
5113 R DIWRIT POITR DYT Y H»an v 5v12 8N does not take effect

5V1 12187 was not an act of new Pw1Tp, but rather as part of
their ongoing marriage 132775, and Ruvain did not have in
mind to create a new Kiddushin. Therefore, Shimon’s
w1 does take effect.

The xm) proceeds to ask another question on 17

WA MAT RTIY RN >

This girl from w73 got married as a mvp i, and when =

she became a 7517 they brought her on a ceremonial Oots D/ D)

bridal chair to marry her present husband; o R D7 )é/?,o/}./,é w7

NOVM RIMMR RN This glrlﬁom ) got married as a NIDP NI,
Another man came along and was w7 her. The 277150

there did not require her to get a 3 from this second man, and when she became a Db)T.J )
even though the first husband apparently was 52 x5 they brought her on a ceremonial bridal chair
T Twn?

to marry her present husband;
NDLVM RIPINR RN

The 21 0bn there did not require her
to get ava from this second man,
' even though the first husband

was N> T1anwn bva NH?
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The Rm) gives 2 answers

- ] -

He was n>73nwn 5v3, because the custom in w1 was that
they would first get married, and then perform this
ceremony.

_2_

MM ROW WY R

W9 R5w 11 1wY 705

Since the second man acted improperly, the o'non voided
his marriage. The X3 explains how the o'»on are able to
do this:

If the second husband was w7pn» with qo), the Chachamim
utilize their power of 991 17 °2 9o, They take owner-
ship of the qo> he gave her, and declare it a gift.

Ifthe second husband was w7pn with X3, the
Chachamim use their power of

™M N1 n>»vab 2710w, based on 329X RNYTR WIPHT 5
WP, as We say YR Twn 1T

The X concludes regarding the Shaila in the Mishnah
of mop im M

MYHR 1275 7150

12 IRDNW AIOPA DR PTON

We teach 5n7 to do jR°», and reject her marriage to j2IR7,
so that j1187 may do D12’ with xS
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The 802 proceeds to the next mwn:

W T VPRI

fatalBaihlorpRalialia biialob R oAy aloRr

J2187 was married to R 5nv, who were miop mmim, a
marriage only 13277, and he died without children;

ANIX NIV O NNR SV ANROM IR ANR

The nx'>m 12 of one wife releases the other wife, because
they are both equally 1312777,

MYINnY

The Halachah is the same if i8> 517 were deaf-mute, also
amarriage only j3277n.

The mwn continues:

nwIm mop

If 12387 was married to 517 who was a mop i and to
78S who was a nwIn

INI3 NIV AN DOR IR PR

The o2’ of one does NOT release the other.

The x will explain.

nwIM PO
If 12187 was married to Sm1 who was a healthy adult, a
marriage Rn»IRT», and to RS who was a nwIn, a
marriage 3277;

DwINn DIvID NP9 DR’

The nx'5>m o1’ of b7 releases nRS from her ’t bond
NAPOT AR NIVI0 NWINA DR PRI

However, the nx'>m o2’ of IR> does not release 5n1 from
her 1t bond, because a 1312771 %51 cannot release a 7t
RID7IRTD.

So too,

0 1T

If 12187 was married to 517 who was a 1517, and to RS
who was a mop mIn;

30PN NIV 1T PN

51T D0 IOPA DR PN

The Gemara analyzes the first Halachah of the Mishnah
that 2 mwan are like 2 mIvp NI in that

ANTI% 17019 DA NNR YW ANR5M IR AR

The nx'>m 12 of one releases the other.

The R0 asks;

N7 %51 N2 NwIm

75109 "5 XTI DWAN PN

A deaf-mute Yevamah cannot do Chalitzah, because she
is unable to recite the o090 the 72 must say when nx°5n
is done?

DafHachaim.org
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The X1 gives 2 answers:

17says

Regarding mwan the Mishnah specifically refers to ixa
only, that the o12> of one releases the other.

127 says

WINNI 32 IR DNPOI NI

The nx'>n of a nwIn is not effective only if when she got
married she was a nrp9, a RnIRTH PUITR, which can
only be undone by a proper Chalitzah of a nnpo.

RV TWINA IR

In our mwn the n°5m of a nwAn is effective, because when
she got married she was also a nw1n, and,

?91°00 S5Y70170

Just like she got married 13317, she can get divorced or do
Chalitzah 132770,

The X713 proceeds to challenge 127 from 4 cases in the
Mishnah at the beginning of the next Perek on 2"y 2°p q7.
The first 3 challenges are answered, but the final question
refutes the opinion of 127,

DafHachaim.org

|

g
Regarding mwOn
the Mishnah specifically refers to N2 only,
that the D12 of one releases the other

2

NYIN2 N
RIPIYN

NNPD2 XD
NWINNI 7D NN
When Wﬁewx/wgor‘ marvied
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/79 02 O
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. The Gemara continues with the next case of our Mishnah:
nwam mop
If 12187 was married to 513 who was a mivp i and to fol’7ala b biialp)
RS who was a nwIn |
N3 NT0I9 D IINR IR PR

The Yibum of one does not release the other. ]ﬂ?: DN AN ]"&
The X2 explains: SR AONYD

79 R IOP2 R PYT RS
777 5595 R'NRT

7Y NI DWIN R

N7 IR D ITAT

Rgshi inthe Mishélah explains; a9 XM NWIN2 IR a9 RN MmoLP2 N
O RMITIPYT R
NN AR NN ANTIT NPT D0 NONRT

OV VR 12WN

The one he prefers is considered to have a stronger mw’,
since both of them are only 13277», and the nx5m o2 of
the weaker one does not release the it of the stronger

1V KD

DL ADEH DN 1 D HNY 03 Y HD
and the 5N D1 of the weaker one

one.
does not release the N1 of the stronger one

If so,

PN TR0

What needs to be done in such a case to release these 2

He is not allowed to do 012’ with both m»2, because of . )
AMINIA TR 2 Heisnotallowed Heisunable

. DN2 ' AN PR to do D) with both: to do nvbn with both:
MmN TNR M2 YN cannot be done

He is unable to do nx°5n with both of them, because 7351 N2 '3 M PR with a noan.

cannot be done with a nwan.

He is unable to do o011’ with the nw-n and then do 7x°5n

with the mvp, because once the 75 is done with the Heis unable to do pi» with the nwin
mop, the nwIn becomes 71OK to him because of and then do n¥bn with the nivp,
732 ROV D '

) ) SRIL
i N 1127 X5 21w N2 ROW D
Therefore,
27 MR RTON 27 IR
VIRV NWINT OND
He does 2 with the nwan and then gives her a v; A2 7/\/,!.’ A0 27 7/1//.’

PIOANW TV DTN TV PIon oM
And when the mop becomes a 717 and eligible for 7x°'5n
he does n%°5n with her.

R N NIV oM
This is explained in greater dedail in the next daf. b’Tan .r)’ ]’ NN NI
VIONNY TY V22 RN
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